BIC

5x10°

log[ Relative Probability ]

—1500

Window Half—Width (km/s)

2x108

108

2x10°

5

10

-500

—1000

1000 10*

100

rm495 2/(372525 5277) 1.369
F T T T T F
' BIC 57054506 ABIC 0.000 AlogP 0.0000
I X% 502851.41 Ax? 0.000 AlogP 0.0000 7
: T — = = = = = = = = — mg
I ' 1 x
I ABIC —167952 1122 «( |
i ? 167952 ~7.2 |
5189 5189 5277
A . ACs H . ACSF . .
20 60 80 100 120
120 iterations
rm495 2/(372525 5277) 1.369
F T | T | !
I ' BIC 57054506 ABIC 0.000 AlogP 0.0000 -
I ... x?502851.41. A% .0.000. AlogP. 0.0000Q. ]
5277 ]
"""""" AC.F ]
| | | | H
80 100 120
Fe2 4% 1004340 km/s
rm495 BLR 14120 NLR 900 km/s
T T T T T T T T T T
. - - e __1BLR
NLR
Fell
20 60 80 100 120

120 iterations

kdh1 14-0ct-2021 21:56



